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Time — Three hours
(Maximum Marks: 75)

[N.B:- (1) Answer any FIVE questions in each of PART-A & PART-B and any two

divisions of each question in PART-C.

(2) Each question carries 2{two) mark.t_; in PART-A, 3(three} marks in PART-B and
S(five) marks for each division in PART-C.]

PART - A

Define coefficient of thermal conductivity.

Define specific heat capacity of a solid.

State Clausius statement of second law of thermodynamics.
What .is meant by refraction of light?

Expand RADAR and LASER.

State Fleming’s left hand rule.

What is called fermi level?

What is an amplifier?

PART - B
State any three postulates of kinetic theory of gases.
Explain adiabatic change.
Give any three advantages of renewable energy.
Explain stimulated emission.
Explain super conductivity and Meissner effect.

Derive an expression for the effective capacitance of three capacitors
connected in parallel.

Explain reverse bias.
Write any three advantages of ICs.
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17. (a)
(b)
(c)
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(c)
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21. (a)
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PART - C

Write the properties of thermal radiation.

If the density of carbon dioxide at STP is 1. 97?kgm 3, find the
RMS velocity of carbon dioxide.

Derive Mayer’s relation (C, — C,=R).

A gas at 1 atm pressure is compressed to 1/3 of its initial
volume. Calculate the final pressure if the compression is
(1)isothermal and (2)adiabatic. Take y=1.4

Explain the liquefaction of oxygen by cascade process.

Write short note on wind energy.

‘Describe an experiment to determine the refractive index of a

glass prism using spectrometer.
Write the uses of LASER. -

Describe the components of remote sensing.

The resistance of a wire of 25m long and 1mm diameter is
0.65Q. Calculate its resistivity.

Describe an experiment to determine the specific heat capacity
of a liquid using Joule’s calorimeter.

Describe  how a galvanometer can be converted: into
(ilan ammeter and (ii)a voltmeter.

Describe the energy band diagrams of conductors, insulators
and semiconductors.

Explain the working of fullwave rectifier using PN junction
diodes.

With the help of truth tables explain OR and AND gates.
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